

# Convertir Celsius a Fahrenheit (B)

Estime o convierta las temperaturas.

$-54\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$47\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-30\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$1\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$33\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-43\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-73\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-2\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-55\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-48\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-23\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$69\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$63\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$55\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$96\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-38\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$89\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$83\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$78\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-75\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-98\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-56\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-81\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-6\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-56\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-48\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$71\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$21\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-31\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-58\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$